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Function03 for No.9182

I=[y=(x=3) +1] 3=[y=2x"-24x+67] .5:[y:—3(x+1)2]}
2=[y=(x—4)-6] 4=[y=3x+42x+149] 6=[y=—x"—14x-52]

VA 307 \ Il
\EmEs f
\ \ Iy
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Nol = [

\ \ / /

\e \\ // / /

\ \/ VA
\\"/\ //

0 /8/ \6 T 30 '\ AN Z//B 0

/ \

\ =20+
\

\ =257
A

A e
No2=(f(x)=x"+8x+16), ,No3=(f(x)=x"—6x+5)
No4=(f(x)=x’-2x-8), ,No5=(f(x)=-x"+36)
No6 =(p=600-0.6x)

No7 : N = 120 p
: P1 = 3000 , P2 = 3300 , P3 = 3600 ,
: B = 300 , M = 660000
No8 : P = 2 , L =3 , A =25 , D =28
NN 1D:9:9:9:9:9:9.:9.:9:9.9:9:9.9.9.:9.0:0:9.9:0:9.0:0:9.9.0:0.0:0:9.9.9:9.0:0:9:9:0:9.0:0:9.9:0.9.0:0:9.9.0.9.9:0:9.9.0:0.0:¢
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXXXXXXKXMS/2-6400403-00002XX
Function03 for No.9225

d=[y=-2(x-4)Y-7] 3=[y=2(x-7)-3] .5:[y=x2—8x+13]}
2=[y=-3(x+3)+4] 4=[y=—x"+6] b=[y=x"+12x+42]

/ 30 1\
‘\\ [\ 25 \\
/
\ // 207 \
\\\ // \ \

./

N01=|:

R /-2 L AN R N

/ -107 V4T —

EErEEiE e
et

—_— \
No2=(f(x)=x-2x-8), ,No3=(f(x)=x"-2x+1)
Nod=(f(x)=x"—14x+48), ,No5=(f(x)=-x"+2x)

No6=(p=200-0.3x)

No7 : N = 120 p
: P1 = 7000 , P2 = 7500 , P3 = 8000 ,
: B = 500 , M = 1404000
No8 : P =7 , L =9 , A = 64 , D = 56
023 19:9:9:9:9:9:9.:9.9:9.9:9:9.9.9.:9.0:0:9.9:0:9.9:0:9.9.9:0.0:0:9.9.9:9.0:0:9.9:0:9.0:0:9:9:9.9.0:0:9.9.9.9.9:0:9.9.0:0.0:¢
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXXXXMS/2-6400403-00003XX
Function03 for No.9243

d=[y=—x"-6x—-8] .3=[y=3x"-30x+78] .5:[y:2(x—5)2]}
2=[y=x"-10x+23] 4=[y=—2(x+6)+3] .6=[y=—(x-7)"-6]

Vo) /

/

o\ 2
ol \\ / /l

No]z{

i
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/ ‘ / \\ ik
/ \ \

/ \ b\
F—ty —

, \ |
. Vo)

1 . A
No2=(f(x)=x"+6x-27), ,No3=(f(x)=x"-9)
Nod=(f(x)=—=x"-4x+32), ,No5=(f(x)=x"—2x+1)
No6=(p=500-0.3x)

No7 : N = 80 p
: P1 = 6000 , P2 = 6200 , P3 = 6400 ,
: B = 200 , M = 597800
No8 : P = 2 , L =11 , A = 64 , D =6
VC] 19:9:9:9:9:9:9:9.:9:9.9:9:9.9.9.:9.9:0:9.9:0:9.0:0:9.9.9:0.0:0:9.9.9:9.0:0:9:9:0:9.0:0:9.9:0.9.0:0:9.9.9.9.9:0:9.9.0:0.0:¢
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXXXXXMS/2-6400403-00004XX
Function03 for No.9280

d=[y=—(x+7)"-5]
2=[y=-3(x-4)-3]

No]z{

\

\
\

i
\
\

ey

10+

3=[y=2x"-12x+18]
d=[y=—(x-4)+2]
\30*

/

/

/
/

{
/
/

\\
\
7

S=[y=x"—1]
6=[y=3x"+36x+109]

/
/

]
/
/

/

f

/

/

/

/

/

/)

|

10 -8

No7 : N =

: P1 =

: B =

No8 : P =

X [Page = 000

=104

=15

=207

=257

No2=(f(x)=x"—-8x+16),
No4=(f(x)=x>+8x+12),
No6 =(p=500-0.6x)

100
3000
500
11

LY 1D:9:9.9.9.9.0.0.0.0.0.0.0:0:0.0.9.0.0.0.0.0.0:0:0.0.0.0:0.0.0:0:0.0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:04

4

4

4

4

P2
M
L

3500
892500
19

4

4

P3

A

4

N4

,No3=(f(x)=—x>—4x+5)
, No3 = (f(x)=—x"+ 16)

4000 ,

36 , D =121

10
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXXXXMS/2-6400403-00005XX
Function03 for No.9298

d=[y=—(x-4Y-7] 3=[y=-3(x-1)-17] .5=[y:2x2+28x+95]}
2=[y==2(x=-7)+2] d=[y=x"+1] 6=[y=—x"+8x-11]
\ 30’ I

\ /
\ |

Nolz[

/
/
/
15- /
\ /
\ 10- /
\ =h /
\
~ /
-10 8 E -4 2 0 2 4 //6 8\ 10
/ \
5 / \

No2=(f(x)=x"+2x-8), ,No3=(f{x)=x"—6x+9)
No4 = (f(x)=—x+36), ,No5=(f(x)=x"-16)
No6=(p=600-0.3x)

No7 : N = 70 p
: P1 = 4000 , P2 = 4200 , P3 = 4400 ,
: B = 200 , M = 371200
No8 : P = 10 , L =13 , A =9 , D =40
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXKXXXXXXMS/2-6400403-00006XX
Function03 for No.9329

d=[y==2x"-2] 3=[y=3x"+30x+69] .5:[y:(x+4)2—3]}
2=[y=-3(x-3)] 4=[y=—x"+12x-38] .6=[y=x"+12x+37]
\ ﬁO’ /

\\\ /25_ /
\ \ / //

\ \ /o207

/ /
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\ \ / 15-
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No]z{

/ 157 / \ \
/ -207 / \ \

/ 254 \ \‘1
\
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No2=(f(x)==x"+4), ,No3=(f(x)=—x"-8x-7)
Nod=(f(x)=—x>+12x-36), ,No5=(f(x)=x"+8x+15)
No6=(p=700-0.6x)

No7 : N = 90 p
: P1 = 6000 , P2 = 6600 , P3 = 7200 ,
: B = 600 , M = 1062600
No8 : P =5 , L =8 , A =121 , D =55
V13 19:9:9:9:9:9:9.:9.:9:9.9:9:9.9.9.:9.0:0:9.9:0:9.9:0:9.9.9:0.0:0:9.9.9:9.0:0:9.9:0:9.0:0:9:9:0.9.0:0:9.9.0.9.9:0:9.9.0:0.0:¢
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Function03 for No.9358
d=[y=3x"+42x+ 143]

2=[y=x"=5]
\ \

\ ‘ f
\ \ s
\

No]:[

; 30

/_,_-—-

\ A 15-

/
\ /
{

3=[y=—(x—-4)+1]
4=[y=-2(x+6)=2]

S=[y=x"—12x+36] }
6=[y=-3x"—18x—34]

10 8 5 4

/ \ 'l-

/ \
/ / \\ k\5
/ / \

I I

No2=(f(x)=x"+ 14 x + 49),

,N03:(f(x):—x2—8x— 12)

Nod =(f(x)=x"—-64), ,No5=(f(x)=x"-2x-3)
No6=(p=100-0.5x)

No7 : N 110 ’
: P1 4000 , P2 = 4200 , P3 =
: B 200 , M = 709800

No8 : P 11 , L =17 , A =

X [Page = 0007] XXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXXKKKXXXXKKKXXXXKXKXXXKKKKXKXKX
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXKXXXXXXMS/2-6400403-00008XX
Function03 for No.9362

[.I:[yz—(x+l)2] 3=[y=x"+6x+6] .5=[y=3x2—36x+113]}
Nol = 5 5 5
=[y=2x"-5] 4=[y=-3(x-2)"-6] 6=[y=x"—-4x+5]
304
\ \ /| /|
\ \ / /
\ s /
\ \ & ,
\
\ \ 20- /
\ h! ll
/
\ \ /
\ N
hY
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\ \\gx / / \//
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-10 8 6 4 2/ 0 2 4 6 8
\\\\\\w_,,/
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No2=(f(x)=—=x"+4x+5), ,No3=(f(x)=x"+2x-35)
Nod=(f(x)==x>+2x+35), ,No5=(f(x)=—x"—6x-9)
No6=(p=100-0.6x)

No7 : N = 120 p
: P1 = 6000 , P2 = 6500 , P3 = 7000 ,
: B = 500 , M = 1600000
No8 : P =5 , L =9 , A =16 , D =20
V1] 19:9:9:9:9:9:9:9.:9:9.9:9:9.9.9.:9.9:0:9.9:0:9.9.:0:9.9.9:0.0:0:9.9.9:9.0:0:9.9:0:9.0:0:9:9.9.9.0:0:9.9.9.9.0:0:9.9.0:0.0:¢
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Function03 for No.9408

Nol =
[.]z[y:—3x2+30x—74] 3=[y=-2x-20x-50] .5:[y=—(x+7)2—6]}
2=[y=—(x+5)-17] 4=[y=(x+4)Y+4] 6=[y=3x"+30x+71]
304
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25+
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15+
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\ N L
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T \\ I/ T T T T T
10 8 §< A 2 0 2 4 6 8 10
__//\
/ \\ -57
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/7 \\
%/ W\ 107
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N 15+
/,/ \‘x
/ \\ -0
\
\
\
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ll ll \7;

No2 = (f(x)=-x"-2x+35), ,No3=(f(x)=x"—10x+25)
No4 = (f(x)=x"~36), ,No5=(f(x)=x"+14x+48)
No6 = (p=700—-0.4x)

No7 N = 130 ’
Pl = 4000 , P2 = 4500 , P3 = 5000 ,
B = 500 , M = 1580500
No8 P =5 , L =15 , A =25 , D =55
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):9:0:9.0:0:9.0.0:9.0:0:9:9.0:9.9.0:9.0.0:9:0.0:9.:0.0:9.9.0:9.:9.0:9.9.0:0.9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXKXXKXXKXKXME/2-6400403-00010XX

Function03 for No.9450

Nof — [1 [y=x"+14x+51] —[y=—(x+2)-6] S=[y=(x+1)*=5] }
[y==2(x+7)=2] 4=[y=2x"-16x+37] .6=[y=-3x"=30x-79]
301 \ ]
\ /
25- \ /
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20+
\ //
15+ \ /
v
\\\\hﬁ/’///
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_ 5 2 0 2 4 6 8 10
/
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/ / »
/ \ \\
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/ / / 257 \
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No2=(f(x)=x"+8x+16),
No4 =(f(x)=—x>-2x+15),

,No3=(f(x)=x"-2x-28)
,No5=(f(x)=x"+6x+8)

No6=(p=300-0.2x)

100

. - ’
: P1 = 4000 , P2 = 4500 , P3 =
: B = 500 , M = 1008000
No8 : P = 8 , L = 18 , A =
X [Page = 0010]

5000 ,

64 , D = 56
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Function03 for No.9469

[.12[y=—(x+3)2+3] 3=[y=—(x-3)] .5=[y:—3x2—36x—110]}
Nol = 5 5 5
2=[y=x"-T7] A=[y=2(x+5)-7] 6=[y=-2x"+12x-12]
\ \ 7 /
\ | ,
\ \ |25 |

—
e
—_—
2
—
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——'*/—‘

/ \ L \
No2=(f(x)=x"-12x+32), ,No3=(f(x)=x"+14x+49)
Nod4 = (f(x) =x"—16), ,No5=(f(x)=-x>+4)
No6 =(p=100-0.7x)

No7 N = 90 ,
P1 = 4000 , P2 = 4200 , P3 = 4400 ,
B = 200 , M = 525000
No8 P =3 , L =11 , A =100 , D =12
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Function03 for No.9730

d=[y=(x+7)Y+4] 3=[y=3x-6x+10] .5:[y:(x—1)2—4]}
2=[y==2x"-8x-4] 4=[y=—(x-6)-5] .6=[y=-3x"-6]

/) /
[\ 25 /
o) /

/

No]:[

NE 4 N

N 9
40 -8 6 4 2 0 2 4 6 8 10
-5+ /—\
/ N\ /- N
\ 7 N

\
A

// \\ \

/ /o)

! _—— \
No2=(f(x)=—x>-16x-64), ,No3=(f(x)=x"+2x-238)
Nod=(f(x)=—x"+2x+48), ,No5=(f(x)=—x"—10x-21)
No6=(p=500-0.4x)

No7 : N = 110 ’
: P1 = 6000 , P2 = 6600 , P3 = 7200 ,
: B = 600 , M = 1425000
No8 : P =11 , L =20 , A =169 , D = 88
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Function03 for No.9743

I=[y=2(x+3)Y+6] 3=[y=-3(x+7)+2] .5=[y:—x2+10x—28]}
2=[y=(x-3)Y+4] 4=[y=—x"—-8x-23] .6=[y=3x—-6x—-4]

\ A |
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T T T T T \ T l T T T T
40 -8 6 4 2 ‘f\’ 2/ 4 6 8 10
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_5_\\__/// //// ﬁﬁ\\\\
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No2=(f(x)==x>+6x-9), ,No3=(f(x)=x"+4x+3)

Nod=(f(x)=x"-4x—-12), ,No5=(f(x)=—x"—6x+16)
No6=(p=300-0.7x)

No7 N = 120 ,
Pl = 6000 , P2 = 6200 , P3 = 6400 ,
B = 200 , M = 956800
No8 P =6 , L =11 , A = 64 , D = 24
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Function03 for No.9791

_ _ . 2
N01=[ d=[y= (zx 1Y +2] ;
2=[y=3"+24x+49] 4=[y=-3(x+1)-6]
\ 301
\
\

3=[y=(x-2)"+4]

S=[y=—=x"-12x-40]
b=[y=-2x"-16x—-37]

/
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/
/

|

N04:(f(x):—x2—8x), ,N05:(f(x):x2—6x+5)
No6=(p=400-0.2x)

\\Q
5_
10

No2=(f(x)=x>-12x+27),

No7 N = 120 ,
Pl = 4000 , P2 = 4400 , P3 =

: B = 400 , M = 1200000

No8 : P = 9 , L =17 , A =
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,No3=(f(x)=—x"+2x-1)

4800

144

4

4

D
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Function03 for No.9807

Nol = {

I=[y=—x"+14x-42]
2=[y=3(x-1)"-3]

304

/

‘\
.

\ 20
/ \
L 15
\
, \ 10-

3=[y=—x"-3]
A=[y=2(x+7)+4]

S=[y=(x—-4)+3] }
6=[y=-2x"+28x-96]

' \ / AN
157 Vs
s N B
10 8 6 4 2 0\ 2 4/ //6 B\ Y
Ve
7 / \
/ / \
/ /
/o \
-10- / /
\
’ \
-154 / /
/ /
[
-20° / //
[
25- /’ /
/ /
o /
No2=(f(x)==x>+6x—-8), ,No3=(f(x)=x"+8x+15)
Nod=(f(x)=x"-6x—16), ,NoS=(f(x)=x"+2x+1)
No6=(p=100-0.2x)
No7 N = 100 ,
P1 = 6000 , P2 = 6300 , P3 = 6600 ,
B = 300 , M = 960000
No8 P =6 , L =13 , A = 25 , D = 54
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Function03 for No.9832

I=[y=(x—4)+5] 3=[y=3x"+24x+52] .5:[y:—3x2+12x—12]}
2=[y=x"-4] 4=[y=—(x+6)"=2] .6=[y=-2x"+24x-70]
v j\ 307 / /

| I\ ,
e [\
\ \ / é@ / //

Nol = [

NN
\\ \ // B\ / /
| \ / /

10- /

\ \\/ \\\ L //

\/\\ o7 —
s
-10 -8 //;(5\ - -4 -2\\\_ _//2 4 6 8 10

7 N
/ \
/ N
/ \

/ \ 15
\
\

No2=(f(x)=x*+12x+36), ,No3=(f(x)=—x"+4x+12)
N04:(f(x):x2—2x—15), ,N05=(f(x)=x2+6x—7)
No6=(p=700-0.2x)

No7 N = 80 ,
Pl = 4000 , P2 = 4400 , P3 = 4800 ,
B = 400 , M = 598400
No8 Pp =7 , L =17 , A = 064 , D = 56
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Function03 for No.9870

d=[y=—(x+2)+1] 3=[y=-2x"+8x-3]

2=[y=(x+2)] 4=[y=—x"-2x+3]
\ 307 /

\ 1
/

.5:[y=—3x2—6x—9]}

<Nb1::[ 2
O=[y=3x"-2]

_-_.‘"
//

20- /
\ /
\ /
\ /
\ 15 /
\ /
\ /
\\ //
10-
\ /
\ /
\ 5

T T T T T 0 / T \ T T T
-10 -8 E -4 2 N2 \4 6 8

—

\ \ \
VoL
VRN |

/] I \
No2=(f(x)==x>+1), ,No3=(f(x)=x"—6x)
Nod=(f(x)=x"+6x+8), ,NoS=(f(x)=x"—-4x+4)
No6=(p=400-0.2x)
No7 N = 120 ,
P1 = 4000 , P2 = 4400 , P3 = 4800 ,
: B = 400 , M = 1200000
No8 : P =1 , L =12 , A = 100 , D =4
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Function03 for No.10168

d=[y=2(x-4)]1 3=[y=x"-6x+8] .5:[y=3x2—18x+32]}
2=[y=-3(x+2y+4]  4=[y=x"-7]  6=[y=—x"+14x-43]

\ 307 f [/
\ I

N0]=|:

\

\ 257 / [
\ SRy
2 \\ / f ll

\ //
\ 15 \ / //
v [
\ \ / f
\h\ / /
107 /
\ /
N Y/ i
5_
NS4
| ‘ ; ‘ . \\\\\~49¢/ ; ‘ \\
10 8 6 4 2 0 2 4/ 6 8
/
o /
/
10- /
/
15+ /

20~ /

25+ /

_—— i
No2=(f(x)=—x"—4x+32), ,No3=(f(x)=x"+6x+8)
Nod = (f(x)=—x"+16x—64), ,No5=(f(x)=—x"+12x—35)
No6=(p=700-0.3x)

No7 : N = 130 ,
: Pl = 5000 , P2 = 5500 , P3 = 6000 ,
: B = 500 , M = 1249500
No8 : P = 3 , L =29 , A = 81 , D =27
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Function03 for No0.10288

d=[y=2(x-2)] =x"—12x+29] S=[y=x"+3] }

3=[y
2=[y=3(x+5)Y-6] 4=[y=—(x-3)-6] .6=[y=-3x"—24x-42]
30y /

\ \
”\ 25—\ /
\ /

N0]=|:

——
—

e
—__'-______.,-—"""-
——,
"""---.______r__-_-_-“--
——/
(e
<
/ =
‘-_._‘_-...\

10 8 \-\§ / -'4/’ \-2 0 2 \4 6 &-/-1—1p
/ \ 104
\
/ Ve
\

\
/ \1-20—

/ -
!

o

\

|
L.

No2=(f(x)=—x"+4x+12), ,No3=(f(x)=—x"+6x+27)
No4=(f(x)=—x"-8x—-16), ,No5=(f(x)=x"—6x-7)
No6 =(p=400-0.1x)

No7 : N = 90 ,
: P1 = 6000 , P2 = 6200 , P3 = 6400 ,
: B = 200 , M = 700000
No8 : P = 11 , L = 22 , A =169 , D = 44
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Function03 for No.10502

NO]_{ d=[y=x"+1] 3=[y=—(x-7)+4] .5:[y=2(x—3)2—5]}
2=[y=x"—-12x+34] 4=[y=3(x+7)] b=[y=-2x"+4x]
\ 307 / /
\ \ /]
1A /
\ " / /
\ \ \ / /
\
I\ /
P /
\ / /
15\ / /
/]
/ /
\ f
\ 10\ /
f
\ \ / /
. \ / /
N \ /
\\Hh ; \.\\/ //
T T T T T \ T T /\ T
10 8 6 4 2 / \ 2\\ a6 7 8 10
/
/51 \\‘/
/ \
/ \
| o \
/ \
/ -154 \\
\
20- \
| = \
- \
No2=(f(x)=—x>—4x—4), ,No3=(f(x)=x"—16)
Nod=(f(x)==x"+2x+3), ,NoS=(f(x)=x"+6x—17)
No6=(p=200-0.4x)
No7 N = 130 ,
Pl = 3000 , P2 = 3300 , P3 = 3600 ,
B = 300 , M = 720000
No8 P =38 , L =17 , A = 144 , D = 104
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXMS/2-6400403-00021XX
Function03 for No.10562

I=[y=—(x—3)"+5] 3=[y=-3x"+7] .5:[y=2x2+12x+14]}

2=[y=(x-6)Y=6] 4=[y=-2x"+16x-32] .6=[y=—(x+3)"+1]
\ 304

Nol = {
f
{

\ 25\//
\ iy
\ 8
\

— /

f \ \
/ fof 2 \
/ \
/ o=

~——

N rm——
r/
--'---

No2=(f(x)=—x"—18x—81), ,No3=(f(x)=—-x"+10x—24)
No4 = (f(x)=x>-9), ,No5=(f(x)=x"+2x-35)
No6=(p=100-0.4x)

No7 N = 80 ,
Pl = 6000 , P2 = 6500 , P3 = 7000 ,
B = 500 , M = 930000
No8 P =38 , L =13 , A =169 , D = 88
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Function03 for No.10683
I=[y=—(x-5)"+2]

Nol = { 5
2=[y=—(x—-4)"-6]

304
251
201
154

10

3=[y=(x-5)]
4=[y=2x"-16x+33]

.5=[y:—2x2+24x—67]}
b=[y=-3x"-6x-1]

10 8 6 4

/ 10~

/ 15-

/ A
/ /l

Lo

|

\

1

No2 = (f(x)=x —4x—;), , No3 = (f(x)=x>-25)

No4 = (f(x)=—x"—18 x - 81),

,No5 =(f(x)=—=x"+10x-21)

No6=(p=100-0.2x)

No7 N = 80 ,
Pl = 7000 , P2 = 7500 , P3 =
B = 500 , M = 992000
No8 : P = 4 , L = 14 , A =
X [Page = 0022]
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4

4

D
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Function03 f
No]:{

\
A

or No.11104

d=[y=—x"+14x-47]
2=[y=3x"-30x+78]

3=[y=2(x-3)+5]
4=[y=(x+4)+6]

307 4
\
\| /
25\

/0
/o

S=[y

3x°—42x—147]
6=[y=—x"—-2]

/

|

-10 87 \6 4 2 0 2 4 6 8 10
// \\ \
e / \
[ o/ |
/ \ /
/ \\ -157 //

No7 N =

Pl =

B =

No8 P =

X [Page = 002

\\
\
\
\

No2 = (f(x) =x2+2x;i)), ,No3=(f(x)=x"—4)

Nod=(f(x)=x"+2x-48), ,No5=(f(x)=—x"+10x-21)

80 ’

6000 , P2 =
200 , M =
3 , L =

CHD:9.9.9.:9.9.9.0.0.9.9.9.9.9.9.9.9.9.9.9.0.0.0.0.9.9:9:9.9:9.9.9:0:0:0:0:0:0:0.9.9.9.9.9.9.9.9.9.0.9.9.9.9.9.9.9.9.9.9.¢

=20+
=254 /

!

No6 =(p=500-0.6x)

6200 , P3 = 6400 ,
597800
11 , A =169 , D

= 39
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Function03 for No.11312

Nol = [ 5
2=[y=(x-3)"-4]

I=[y==2(x+1)"-6] 3=[y=3x"+3]
4=[y=—x"—-12x-32]

\\ 304 /
\

S=[y=-3x"+18x-20]
6=[y=x"-8x+19]

|

V10
\

No2=(f(x)=x"-2x-3),
No4 = (f(x) =x"+ 12 x + 36),

e

\
\
\

|
1

,No3=(f(x)=—x"+2x+15)
,No5=(f(x)=x"+6x—-27)

No6=(p=100-0.3x)

No7 N 70 ,
Pl 6000 , P2 = 6500 , P3 =
B 500 , M = 742500

No8 P 9 , L =13 , A =

7000 ,

36 , D =108
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Function03 for No.11450

d=[y=(x-4Y+4] 3=[y=-x"—-8x—15] .5=[y:—(x+7)2—5]}
2=[y=2(x-5Y-2] 4=[y=-3x"+24x-47] . 6=[y=-2x"-5]
301y /

\ |
25- \
\

/
20- \ //

\ |
15- \ /

\
10- \
/
/
/

No]:{

-10 -8 N —" 2 0 2 / A6 8
/ \ \
/ \ / \

/ N
/ TN/

[\ \
/ / / \‘ \ \\
/ [ o\ ] \ \

/ P Y \\
/ // _) //\\ \ \\

No2=(f(x)=—x"+8x-7), ,No3=(f(x)=—x"+2x+3)

Nod=(f(x)=x>-14x+48), ,No5=(f(x)=—-x"+12x-736)
No6=(p=500-0.2x)

No7 N = 70 ,
P1 = 4000 , P2 = 4200 , P3 = 4400 ,
B = 200 , M = 365800
No8 P =4 , L =38 , A = 64 , D = 40
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Function03 for No.12149

d=[y=x"-8x+11] 3=[y=—x"+4x+3] .5:[y:—3(x+2)2—6]}
2=[y=-2(x+4)7+7] 4=[y=3"+6x+5]  .6=[y=(x+6)]

R /

N01=[

-10 8 6 4 o if-0 \z\ 4\ / 8 10
/ \

] SN
/7</ )
// / \\\10
\
/ / A \
[ \
\

Y

[ 1 | \
| R \

No2=(f(x)=x*—4x-5), ,No3=(f(x)=—x"-2x+3)
Nod=(f(x)=x"+10x+9), ,No5=(f(x)==x"—10x-25)
No6 =(p=600-0.3x)

):0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:¢

No7 : N = 80 ,
: P1 = 4000 , P2 = 4400 , P3 = 4800 ,
: B = 400 , M = 616400
No8 : P =1 , L =6 , A =121 , D =10
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Function03 for No.12181

Nol_[.lz[y=3(x—5)2+5] 3=[y=-"+6x-10] .5=[y:—3x2+42x—146]}
2=[y=x"+3] A4=[y=—x"+8x-10] 6=[y=2(x+4)]
\ \ 307

\\ \ ?/I’ \\\ /

/

-10 -8 E -4 2 0 2 4 &\ 10

i
10+ / \
157 / \\
20] / \

25- /
' |
/ \
No2=(f(x)==x>+81), ,No3=(f(x)=—x"+6x-5)

Nod=(f(x)=—x"+16x—-64), ,No5=(f(x)=x"—4x-21)
No6=(p=200-0.4x)

No7 N = 100 ,
Pl = 6000 , P2 = 6300 , P3 = 6600 ,
B = 300 , M = 907200
No8 P =38 , L =16 , A =16 , D = 32
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Function03 for No.12234

J— —_2_ —_—
NOIZ{I—[y— X 1(2)x 20]
2=[y=-3x"-5]
30-
\ z/f
/
/15
/
/
/

{

/

/

3=[y=—x"—-12x-39]
4=[y==2x"+16x-32]

6=[y=(x+5)-2]

S=[y=3(x-7)-6]

|

5 %% 2 O

\ / 107
/ \/
/ \
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No2=(f(x)=x"+16x+ 63),
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P1 = 4000 , P2 = 4400 , P3 =
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No8 P =4 , L = 14 , A =
= 0028]

f
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Function03 for No.12288

NO]_[ d=[y=x*-6x+9]  3=[y=—(x-6)-2] S=[y=x"+2] }
2=[y=-3x"+430x-72] 4=[y=2x"+8x+13] .6=[y=-2(x-2)"+5]
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No2=(f(x)==x>+2x-1), ,No3=(f(x)=x"+2x-3)
Nod=(f(x)=—=x>+8x), ,No5=(f(x)=x"-2x-38)
No6 = (p=100-0.7x)
No7 N = 130 ,
P1 = 6000 , P2 = 6600 , P3 = 7200 ,
B = 600 , M = 2073600
No8 p =7 , L =15 , A = 144 , D = 35
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Function03 for No.12311
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Nolz[.l—[y—x +1§)x+21]
2=[y==x"+T7]
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3=[y=-3(x+7)+6]
4=[y=2x"+8x+8]
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Nod=(f(x)=x"-2x+1),

No7 N = 120 ,
P1 = 6000 , P2 = 630
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Function03 for No.12318

N01=[
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d=[y=-3(x+4)]
2=[y=x"+12x+37]

3=[y=x"-2]
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/
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4=[y=-x"-6x-7]
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No2=(f(x)=x*-10x+24), ,No3=(f(x)=—x"+2x+3)
Nod =(f(x)=x"—16x+64), ,No5=(f(x)=x"—4x—45)
No6=(p=500-0.3x)
No7 N = 100 ,
P1 = 4000 , P2 = 4500 , P3 = 5000 ,
B = 500 , M = 880000
No8 p =7 , L =15 , A = 100 , D =70
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Function03 for No.12322

NOJZ[.]:[y=—2x2—16x—35] 3=[y=x"—8x+21] .5:[y:3(x+2)2—5]}
2=[y=—x"-14x-53] 4=[y=-3(x-4)Y"-3] .6=[y=—(x+6)"—=5]
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No2=(f(x)=x>+4x+3),
No4=(f(x)=-x"—18x—81),

,No3=(f(x)=—x"-6x—28)
,No5=(f(x)=x>-10x+21)

No6 =(p=400-0.5x)

No7 : N = 110 ,
Pl = 3000 , P2 = 3300 , P3 =
B =300 , M = 646800
No8 : P = 8 , L =18 , A =
32]
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Function03 for No.12335

d=[y=3(x+77’+7] 3=[y=x—4x-1] S=[y=x*+1] }
2=[y=-3x"-6x+4] 4=[y=2(x-3)+4] 6=[y=-x"+14x-46]
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No2=(f(x)=x"+6x), ,No3=(f(x)=—x"—6x-5)
Nod =(f(x)=x"~10x+25), ,NoS=(f(x)=x"—4x-32)
No6=(p=200-0.1x)

No7 N = 90 ,
Pl = 3000 , P2 = 3300 , P3 = 3600 ,
B = 300 , M = 562500
No8 P =9 , L = 14 , A = 169 , D = 54
X [Page = 0033] XXXXXXXXXXXXXXXXXKXXXXKXKXXXKXXXKXKXKKXKXKXKKXKKXKXKXKXKKKKXKXKXKKXKKXKXKXKKKKK



):9,9:9:0.0.9.9.9.9.9.:0:0.0.9.9.9.9.9.:9:0.0.9.9.9.9.:9.:0.:0.0.9.9.9.9.9:0.:0.0.9.9.9.9.9.9:0.0.0.9.9.9.9.9.:0.0.0.0.9.9.9.9:0.0.9.9.9.9.9.0:0.0.0.9.9.9.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXMS/2-6400403-00034XX
Function03 for No.12340

d=[y=(x+4)Y-5] 3=[y=-3x"-18x-33] S=[y=—x"-6] }
2=[y=3(x-4)-4] 4=[y=x"+12x+36] .6=[y=-2(x-5)-6]
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No2=(f(x)=—x"+8x), ,No3=(flx)=-x"—12x-36)
Nod=(f(x)=x*+6x-27), ,NoS=(f(x)=x"—4x+3)

No6=(p=400-0.2x)

No7 N = 120 ,
Pl = 7000 , P2 = 7500 , P3 = 8000 ,
B = 500 , M = 1522500
No8 P =9 , L =10 , A =100 , D = 99
X [Page = 0034] XXXXXXXXXXXXXXXXXXXXXKXKXXXKXXXKXKXKXKXKXKKKKKXKXKXKKKKXKXKXKKKKXKXKXKKKKK



):9,9:9:0.0.9.9.9.9.9.:0:0.0.9.9.9.9.9.:9:0.0.9.9.9.9.:9.:0.:0.0.9.9.9.9.9:0.:0.0.9.9.9.9.9.9:0.0.0.9.9.9.9.9.:0.0.0.0.9.9.9.9:0.0.9.9.9.9.9.0:0.0.0.9.9.9.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXMS/2-6400403-00035XX
Function03 for No.12342

d=[y=-3x"-12x-5] 3=[y=—(x+5)-4] .5=[y=x2—4x+3]}
2=[y==x"+2x-1] A4=[y=-2(x+6)+4] 6=[y=2(x-3)"+5]
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No2=(f(x)=x"—-6x), ,No3=(f(x)=-x"+4x+32)
Nod=(f(x)=x"-10x+9), ,No5=(f(x)=—x"—10x—25)
No6=(p=700-0.6x)

No7 N = 110 ’
Pl = 6000 , P2 = 6600 , P3 = 7200 ,
B = 600 , M = 1689600
No8 P =28 , L =19 , A = 25 , D = 64
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Function03 for No.645201

[ d=[y==x"-17] 3=[y=x"+8x+14] -5=[y=—3(x—2)2+6]}
Nol = 5 ; -
2:[y:—2(x+1) +2] 4:[y:2(x+4) +2] .6:[y:_x _6.x—4]
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NOZ:(f(x):—x2+2x+15), ,NO3=(f(x):x2+10x+24)

Nod=(f(x)=x*+6x+9), ,NoS=(f(x)=-x"—4x+5)
No6 =(p=600-0.6x)

No7 N = 130 ,
Pl = 3000 , P2 = 3500 , P3 = 4000 ,
B = 500 , M = 1111500
No8 P =9 , L =19 , A = 36 , D = 63
X [Page = 0036] XXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXKXXXXKXKXKKKKKXKXKXKKXKKXKXKXKXKXKKXKXKXKKKKX



):9,9:9:0.0.9.9.9.9.9.:0:0.0.9.9.9.9.9.:9:0.0.9.9.9.9.:9.:0.:0.0.9.9.9.9.9:0.:0.0.9.9.9.9.9.9:0.0.0.9.9.9.9.9.:0.0.0.0.9.9.9.9:0.0.9.9.9.9.9.0:0.0.0.9.9.9.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXMS/2-6400403-00037XX
Function03 for No.645202

d=[y=(x-4Y+6] 3=[y=(x-3)+1] .5=[y:2x2—6]}
2=[y=-3(x-4)Y] 4=[y==2x+8x-13] 6=[y=—x"+2x-2]
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No2=(f(x)=—x"+4x+32), ,No3=(f(x)=—x"—4x+21)
No4=(f(x)=x"-25), ,No5=(f(x)=—x"-2x-1)
No6=(p=200-0.1x)

No7 N = 100 ,
Pl = 5000 , P2 = 5500 , P3 = 6000 ,
B = 500 , M = 1224500
No8 P =3 , L =11 , A = 25 , D = 30
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Function03 for No.645203

NO]_[.I:[y=3(x—7)2] 3=[y=-3x-12x-18] .5=[y:—(x+7)2—6]}
2=[y=x"—4] 4=[y=x"—4x+5] .6=[y=-2x"—-8x-3]
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No2=(f(x)=x*—4x+4), ,No3=(f(x)=—x"—12x-32)
Nod =(f(x)=x"—-49), ,No5=(f(x)=—x"-6x)
No6 =(p=600-0.3x)
No7 N = 70 ,
P1 = 6000 , P2 = 6600 , P3 = 7200 ,
B = 600 , M = 887400
No8 P =4 , L =6 , A = 25 , D = 24
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Function03 for No.645204

Nolz[.lz[y:—S()H—Z)z]

3=[y=—~(x-3)"-2]
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2=[y=x"-8x+19]  4=[y=2x"—-1] 6=[y=x"+12x+32]
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Nod=(f(x)=x"-12x+36), ,No5=(f(x)=—x"+4x+21)
No6=(p=400-0.4x)
No7 N = 90 ,
P1 = 5000 , P2 = 5500 , P3 = 6000 ,
B = 500 , M = 858000
No8 P =3 , L =38 , A = 144 , D =21
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Function03 for No.645205
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X [Page = 0040]

S
P
S
ol

A
=10+ /\ \
A\
Koy

/ \\
=154 / \ \

\ \

P N
/ \

2 | \

_30,l \ \
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Function03 for No.645206

I=[y=3x"-30x+78] .3=[y=(x+3)] .5:[y:—x2+12x—43]}
2=[y=2(x-6)"+5] 4=[y=—(x-7)"+3] .6=[y=-3x"-30x-69]
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No2=(f(x)=x"+2x-3), ,No3=(f(x)=x"—4x-21)
Nod=(f(x)=—=x"-2x+15), ,No5=(f(x)=x"—12x+36)
No6=(p=200-0.1x)

No7 N = 80 ,
Pl = 3000 , P2 = 3300 , P3 = 3600 ,
B = 300 , M = 499200
No8 P =7 , L =29 , A =169 , D = 28
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Function03 for No.645207

NOI_[.]:[y=x2—10x+27] 3=[y=—(x+3)+4] .5:[y:—3x2+30x—81]}
2=[y==2x"-1]  4=[y=(x+5)"-7] 6=[y=3(x-5)"+4]
361\‘ /I
/
254\ /
\
A
201
/
/
/
15 /
\ /
10- \ A
\ /
2 \ //
Pt ,
//’ \\\ S
T T T / T T \ T T T T T
-10 8 Bl e 4 6 8 10
N,
\

/ / 201

/ =
/ e

No2=(f(x)=x"-6x+9),
Nod = (f(x)=—x"+6x+27),

—
"--<<
//
-
______.—--/

,No3=(f(x)=x>-6x+8)
,No5=(f(x)==x>+6x-5)

No6=(p=100-0.3x)

No7 N = 130 ,
Pl = 6000 , P2 = 6200 , P3 =
: B = 200 , M = 1111800
No8 : P = 11 , L =13 , A =

6400 ,

169 , D = 143
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Function03 for No.645208

d=[y==x"+7] 3=[y=2(x-3)"-4] .5=[y=—3x2+6x+3]}
2=[y=-2(x+5)7] 4=[y=x"+14x+55] .6=[y=(x-2)"-5]

\ / 304 /

\

\\ // - I /
/

P ]

\ e /

N0]=|:

R R Tt Ty o

/
.
e
N
i
I

/ ! 30- ‘
No2=(f(x)==x*-8x—16), ,No3=(f(x)=—x"—10x-21)
Nod=(f(x)=x"-2x-24), ,No5=(f(x)=—x"+8x—12)
No6 = (p=400-0.2x)

No7 N = 90 ,
Pl = 5000 , P2 = 5500 , P3 = 6000 ,
B = 500 , M = 1029500
No8 P =5 , L =15 , A = 81 , D = 60
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Function03 for No.645209

N01=[

d=[y=—(x-3)+6]
2=[y=-3x"+30x-77]

3=[y=—x"+14x-52]
4=[y==2(x-1)+5]

S=[y=(x+5)-1]
6=[y=2x"+6]

i 30—/
\ /
\ 25_
\ /
\
\ ]
\ %
/
/ 15+
/
/
\\\ /// 10+
\ // S|
\, / s N
\\ / / N
T T T I/ T / I\ T T
-10 8 6 4 T s N 10
\ ]
/ \ TN
/ &l \
/
/ N
y /
/ 10 A
Y \
/ > \
/ 15+ T
/ [/
/
/ =207 / \
T —
/ /l \\
/ . \
No2=(f(x)==x>+8x—12), ,No3=(f(x)=—x"—16x—64)
No4 = (f(x)=—x>—14x—-45), ,No5=(f(x)=x"-16)
No6=(p=100-0.4x)
No7 N = 100 ,
P1 = 6000 , P2 = 6500 , P3 = 7000 ,
B = 500 , M = 1280000
No8 P =9 , L = 20 , A = 121 , D = 45
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Function03 for No.645210

NO]_[ d=[y=x*+2x+1] —[y=—(x+2Y+7] .5:[y:2(x—7)2—1]}
—[y=-3x+6x-8] 4=[y=-2(x-2)+5] 6=[y=x"—1]
Vo 307 /

\ / /

\\ \ 55
C
-\ 20- /
\
\
\
\ 15-
\\ / /
/ /
\ / /
10
\\\ //
NG /
5 F
\ %
/ X/
T T T /I \\ \ /l T T T T
-10 8 . s ey A 4 6 8 10
/
/ _5_/\
/
/
/ \
/ | \
/ }{ \
/ \
/ / \
/ b\
/ e\
{ /
/ [ 20 \

/ //

/ | = \i\

/ \

/ o I\
No2=(f(x)==x>+4x+32), ,No3=(f(x)=—x"+10x-21)
Nod4=(f(x)=x*-10x+16), ,No5=(f(x)=—-x"+18x—81)

No6=(p=300-0.4x)
No7 N = 80 ,
Pl = 3000 , P2 = 3300 , P3 = 3600 ,
: B = 300 , M = 434700
No8 : P =2 , L =4 , A =121 , D =38
SV D9:0.0:0.0.0.9.0.0.0:0.0.0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0.0.0:0.0.0.0.0.0.0:0.0.0.0.0.0.0.0:0.0.0.0:0.0:0.0:0.0:0.0:0:¢
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Function03 for No.645211

NO]_{ d=[y=3(x-7Y+3] 3=[yr=—(x-6)] .5:[y:—2x2—4]}
2=[y=-3x"-30x-70] 4=[y=x"—2x+2] 6=[y=x"—4x+1]
\ 301 /
\ /

\ /
\ 25 /

A /

20-
,
15-
\
\" 10 /

\ 5 /
/N N
/ ‘\ M "
-10 -8 /.6 4 2 0 2 4 6 8 10
I/ \ // \\
/ \ £\ / \

/ / 151
"I [l w / \\ \

| / 0.
No2=(f(x)=x"-2x-35), ,No3=(f(x)=-x"—10x-24)
Nod =(f(x)=—x"—10x—16), ,No5=(f(x)=—x"+ 14x—49)
No6=(p=400-0.3x)

No7 N = 120 ,
Pl = 3000 , P2 = 3500 , P3 = 4000 ,
B = 500 , M = 1372000
No8 Pp =7 , L =15 , A = 81 , D = 42
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Function03 for No.645212

NOI_[.]:[y=—3x2+24x—53] 3=[y=-x+8x-11] .5:[y:—(x+2)2+1]}
2=[y=(x-5)] 4=[y==2(x-5)Y-3] 6=[y=3x"+7]
\ 307 /
Ve /
\ o= /
N
\ 20+ ! ,/
SR
\ 15+
\
A\
\ \
07/ N\
54 ~
// N /
-10 -8 -6 -4 -2 /2 4 6\ 10
S \
/ TN
/ A
f N
-107 / \
f \
/
/ / \
Foo \
f \
/-20 / \
) \
[= \\ \
/ " \ \
230 { \
No2=(f(x)=—x>-14x-49), ,No3=(f(x)=x"+6x—16)
Nod=(f(x)=—x"+6x—-8), ,NoS=(f(x)=—x"—-6x+7)
No6=(p=700-0.2x)
No7 N = 100 ,
P1 = 4000 , P2 = 4200 , P3 = 4400 ,
: B = 200 , M = 655200
No8 : P = 10 , L =18 , A = 144 , D = 110

X [Page = 0047]

):0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:¢



):9:0:9.0:0:9.0.0:9.0:0:9:9.0:9.9.0:9.0.0:9:0.0:9.:0.0:9.9.0:9.:9.0:9.9.0:0.9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXKXXKXXKXKXME/2-6400403-00048XX

Function03 for No.645213

Noz{ d=[y=(x+5)7+2]

2=[y=2x"-12x+17]

3=ly=(x+4)-1]
4=[y=-3(x+1)"-5]

S=[y=3x"+3]

6=[y=—x"+8x—18]

|

\
\
\ \
\\
\
\
\
\
AN
\\
10 8 6 8 10
-5+
-10-
-15-
=20
-25-
-30
No2=(f(x)=x"—4x+4), ,No3=(f(x)=x"+4x-32)
Nod=(f(x)==x"+4x+32), ,No5=(f(x)=x"—2x-15)
No6=(p=500-0.4x)
No7 N = 90 ,
P1 = 5000 , P2 = 5500 , P3 = 6000 ,
B = 500 , M = 858000
No8 p =7 , L = 14 , A = 81 , D = 84
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Function03 for No.645214
j— [ 2_
Noz{ d=[y=-3x 21]
2=[y=2(x=7)+2]

\

3=[y=(x+2)"-5]
4=[y==2x"+20x-57]

304
\ |

10

.5:[y=x2—8x+17]}
b=[y=—(x+2)"-2]
/

/

‘--.:--...\\
.

/
\\ /o
\ // /
hY \

\ \\ // /l
\ \/ /
S P
\\_// \_./

10

N

/\

a

[
[
,No3=(f(x)=—x"—4x+12)
,No5=(f(x)=x>—8x+15)

No6=(p=100-0.2x)

10 8 6 4 2 g
/ i
/D
/
/
/
/ 10~
/
// 154
|
|
Il’ _20,
{ i
| 25
/
|
! e
No2=(fix)=x"+8x+7),
No4 = (f(x)=—x"+12x-36),
No7 N = 120 ,
: P1 = 6000 , P2 = 6500 , P3 =
B = 500 , M = 1337500
No8 P =2 , L =9 , A =
= 0049]

7000 ,

9 , D =20
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Function03 for No.645215

I=[y=2(x+3)+7]
2=[y=—x"-6x-9]
\\\
\\

Nol = {

3=[y=x"—10x+26] .5:[y=—(x+l)2—3]}
4=[y=3(x+4)Y+6] .6=[y=-2x"-3]

No2 = (f(x)=x>+2x-24),
Nod=(f(x)=x"—4x+4),

,No3=(f(x)=x"-8x+15)
,No5=(f(x)=—x"—6x+7)

No6=(p=700-0.4x)

No7 N = 70 ,
P1 = 4000 , P2 = 4200
: B = 200 , M = 365800
No8 : P =6 , L =15

4

, D =72
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Function03 for No.645216

d=[y=-2x"—4] 3=[y=x"-6x+9] .5=[y:—(x+1)2+2]}

2=[y=-3(x+5)+2] 4=[y=2x"+12x+25] .6=[y=—(x+1)"=5]
\ 307 {

No]:{

A /

\ /

N2 4 6 8
\\

[ S\ \ X

’ / ) \ 107 \
r/ / \\ \\
/I // // \‘\ — \ \\

/ /I // \ \‘-.

/ / \ -207 \ \

/ // \ \\ \\

[/ —— \

// // | \ \

No2=(f(x)=x"~16), ,No3=(f(x)=-x"—2x+35)
N04:(f(x):x2+8x+ 15), ,N05=(f(x):—x2—2x— 1)
No6 =(p=600-0.6x)

No7 N = 120 ,
Pl = 6000 , P2 = 6500 , P3 = 7000 ,
: B = 500 , M = 1253500
No8 : P = 3 , L =5 , A =9 , D = 30
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Function03 for No.645217

d=[y==2x"-16x-39]
2=[y=2(x=5)-2]

\ \ 301

-

\
\\ 20,
\

No]:{ 3=Ly

. ~ 7
AN /
RN S

4= y:x2+8x+16]

=3x+12x-5]

\'/

//\ /
/
/o

S=ly=-x"-1]
6=[y=(x+3)+5]

|

10 8 6 4

I

No2=(f(x)=—=x"—4x+32),
No4 = (f(x)=—x"+ 18 x — 81),

,No3=(f(x)=x>—4x-32)
,No5 =(f(x)=—x"—6x—28)

No6=(p=200-0.3x)

No7 : N = 100 ,
: P1 = 5000 , P2 = 5500 , P3 =
: B = 500 , M = 968000

No8 : P =11 , L =17 , A =
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Function03 for No.645218

d=[y=—x"+5] 3=[y=x"+10x+25] .5:[y=2(x+4)2—6]}
2=[y=-3x+18x-30] 4=[y=—x"-6x-8] .6=[y=—2(x+7)-7]

\ 30-/

\\\ 251
\ %

N01=[

N\ \ O\

-10\/ \
\
\\

/ I\ \\\
, _

! _—— 1 W
No2=(f(x)=x"+4x-21), ,No3=(f(x)=x"-2x-3)
Nod=(f(x)=x"=2x+1), ,No5=(f(x)=-x"+2x+15)

No6 =(p=600-0.4x)

No7 N = 130 ,
Pl = 3000 , P2 = 3500 , P3 = 4000 ,
: B = 500 , M = 1207500
No8 : P =7 , L =11 , A = 121 , D =70
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Function03 for No.645219

d=[y=—(x+7)Y-6] 3=[y=2x"+8x+15] S5=[y=—(x+2)"] }

2=[y==3x"=-7] A4=[y=-2x"+24x-74] 6=[y=(x+7)+5]
30- /

No]:[

\ e

-10 -8 E 420 2 4 6 8

l// / / | :\\\ I/ \\

/ E Iy \
/, ’i‘ 5. \IX \
/ :

\
i / -~ I/\l \\ \

No2=(flx)=x"~6x+5), ,No3=(f(x)=—x"+4x+32)
Nod=(f(x)=x*-2x-3), ,NoS=(flx)=—x"+2x-1)
No6 =(p=100-0.5x)

No7/ N = 110 ’
Pl = 4000 , P2 = 4200 , P3 = 4400 ,
: B = 200 , M = 720000
No8 : P =9 , L =12 , A = 49 , D = 27
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Function03 for No.645220

y==2(x+7)-2]

/

/

/
/

]

/

[
4=[y=2x"+4]

S=ly=—(x=7)]
b=[y=—x"—4x+2]

|

Nol{-1=[y=3x2+36x+115] 3=
2=[y=x"+6x+6]
\\ /: 301
\\:\ |
\\ /
\ / 204
\\\ /
\\ //
ATAY /
\ / 10-
’//
. //—\\ﬁl
‘ | | N //./ | /
S NG ITA NG e
e
/
/ -15+
[
‘/ / \‘\ 20-
[ \
/ / \

| /, \

No2=(f(x)=x"-8x+7),

No4 = (f(x)=—x"—14x - 49),

No6 =(p=200-0.7x)

No7 N = 90 ,
Pl = 6000 , P2 = 6200
: B = 200 , M = 662200
No8 : P =11 , L =12
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4

P3

A

6400

64

4

4

D

= 33

,No3=(f(x)=x"—12x+35)
,No5 = (f(x)=—x"+4x)
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Function03 for No.645221

NOJ_[.]:[y=—3x2—18x—21] 3=[y=3x-1] S=[y=(x+6)-2] }
L 2=[y=-"-14x-45] 4=[y=—(x+7V+1] 6=[y=-2(x+2)"+1]
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No2=(f(x)=x"—6x+8), ,No3=(f(x)=x"+4x-5)
Nod=(f(x)=x>+8x+16), ,No5=(f(x)=-x"+36)
No6 =(p=400-0.1x)

|
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/] S

No7 N = 100 ,
P1 = 4000 , P2 = 4200 , P3 = 4400 ,
B = 200 , M = 574200
No8 P =7 , L =12 , A = 81 , D =70
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Function03 for No.645222

N0]=[

d=[y=—x"-12x-42] 3=[y=-3(x+4)"-5] S=[y=(x-1)-5]
2=[y==2x"+16x-25] 4=[y=2x"-16x+25] .6=[y=—(x—2)+6]
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No2=(f(x)=x"—4x-21), ,No3=(f(x)=x"+8x+12)
Nod=(f(x)=x"-14x+49), ,No5=(f(x)=—x"—8x)
No6=(p=100-0.3x)
No7 N = 100 ,
P1 = 6000 , P2 = 6600 , P3 = 7200 ,
B = 600 , M = 1121400
No8 p =7 , L =10 , A = 121 , D = 49
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Function03 for No.645223

No]:{

\

\

d=[y=(x=-7)Y-2] 3=[y=3x"+36x+112] .5=[y:—(x—7)2+3]}
2=[y=-2x"+28x-98] A4=[y=-3(x+7)-3] .6=[y=—x"—-8x-20]
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No2=(f(x)=—x"+4x), ,No3=(f(x)=x"—18x+381)
Nod=(f(x)=x"+6x—-16), ,No5=(f(x)=x>-49)
No6=(p=500-0.4x)

e Y

100 ’

4000 , P2 = 4500 , P3 = 5000 ,

500 , M = 845500

3 , L =4 , A =16 , D = 30
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Function03 for No.645224

NO]_[.J:[y=—3(x—6)2—6] 3=[y=—(x+4)] .5:[y:x2+5]}
L2=[y=3x"-30x+79] 4=[y=2x"+8x+14] .6=[y=(x+3)+4]
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No2=(f(x)=—x*+10x—16), ,No3=(f(x)=—x"+ 14x—49)
Nod4=(f(x)=x"-10x+21), ,No5=(f(x)=—x"+2x+63)
No6=(p=300-0.5x)

No7 N = 130 ,
Pl = 7000 , P2 = 7500 , P3 = 8000 ,
B = 500 , M = 1792000
No8 P =6 , L =16 , A = 49 , D =72
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Function03 for No.645225

I=[y=x"+10x+19] 3=[y=—x"-6] .5:[y:_x2+10x_25]}
2=[y==2(x-6Y—-7] 4=[y=-3(x+7)+3] .6=[y=2x"+4x-4]
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No2=(f(x)=—x"—4x+45), ,No3=(f(x)=x"+4x+4)
Nod=(f(x)=x"-12x+32), ,No5S=(f(x)=—x"-2x+3)
No6=(p=700-0.4x)

No7 N = 130 ,
Pl = 6000 , P2 = 6600 , P3 = 7200 ,
B = 600 , M = 1725000
No8 P =1 , L =12 , A = 169 , D =4
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Function03 for No.645226

Noz{ d=[y=x"—4x+9] 3=[y=—(x+7)-2] .5=[y:—x2+10x—24]}
2=[y=-3x"=36x-112] 4=[y=3(x+3)=2] .6=[y=2(x-2)"]
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No2=(f(x)=x"+14x+48), ,No3=(f(x)=x"—-12x+32)
Nod=(f(x)=—x"+2x+15), ,No5=(f(x)=x"-2x+1)
No6=(p=300-0.7x)
No7 N = 100 ,
P1 = 4000 , P2 = 4500 , P3 = 5000 ,
B = 500 , M = 1037500
No8 P =2 , L =3 , A = 169 , D =18
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Function03 for No.645227

Nol = [ 5
2=[y=(x-57-7]

I=[y=-3x"+6x—-6] 3=

[y=3(x+1)]

1 307 !

=[y
4=[y=-2x"-16x-38] .6=

=(x+3)2—5]}
[y=-x"+6x-28]
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No2=(f(x)=—x"+6x-9),
No4 = (f(x)=x"-16),

No6=(p=700-0.5x)

No7 N = 80 ,
Pl = 6000 , P2 = 6600 , P3 = 7200 ,
B = 600 , M = 1061400
No8 P =2 , L =28 , A = 100 , D =16
X [Page = 0062]

, No3 = (f(x)=—x+ 14 x — 48)
,No5=(f(x)=x>+2x-35)
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Function03 for No.645228

I=[y=—(x+6)Y-7] 3=[y==2x"+16x-37] .5=[y=—(x—7)2—6]}

2=[y=x"—4x+11] 4=[y=3x"+36x+108] .6=[y=2x"+1]
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No2=(f(x)=x"-6x), ,No3=(f(x)=x"—12x+35)

Nod=(f(x)=-x*—4x+21), ,NoS=(f(x)=—x"—14x—-49)
No6=(p=700-0.3x)

No7 N = 80 ,
Pl = 4000 , P2 = 4400 , P3 = 4800 ,
B = 400 , M = 665600
No8 P =3 , L =38 , A = 25 , D =15
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Function03 for No.645229

d=[y=—x"-8x-11] 3=[y=3x"+30x+69] .5:[y:—3x2—30x—74]}
2=[y="2(x+2y+2]  4=[y=(x-1)] G=[y=—x"—5]
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No2=(f(x)=x>+10x+24), ,No3=(f(x)=x"—8x+16)

Nod=(f(x)=x"-2x-3), ,Nos=(f(x)==x"=2x+3)
No6=(p=400-0.4x)

No7 N = 130 ,
Pl = 3000 , P2 = 3300 , P3 = 3600 ,
B = 300 , M = 1013700
No8 P =4 , L =13 , A = 25 , D =12
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Function03 for No.645230

NOI_[.I:[y:—2x2+28x—103] 3=[y=x"-10x+20] .S=[y=2x"-6] }
2=[y=-3(x+6)] d=[y=—(x+1)Y-2] 6=[y=x"+6x+12]
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No2=(f(x)=x>+2x—-48), ,No3=(f(x)=-x"—2x+15)
Nod=(f(x)=x"+16x+64), ,No5=(f(x)=—x"—4x+45)
No6=(p=700-0.1x)
No7 N = 90 ,
P1 = 5000 , P2 = 5500 , P3 = 6000 ,
B = 500 , M = 800000
No8 p =7 , L = 14 , A = 121 , D =70
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